MODEL ACTIVITY TASK
ENGLISH

CLASS VI
ACTIVITY 1

Rewrite the following sentences using the Past tense of the underlined verbs. One is done for you:
e  The office celebrates its third birth anniversary.
Ans. The office celebrated its third birth anniversary.
1)  The lady extinguishes the candle before she goes to sleep.

Ans.

i1) The truck collides with a bus on the highway.

Ans.

1i1) Students gather in the auditorium for they want to show respect to the new teacher.

Ans.

ACTIVITY 2

Find out the most suitable words for the following expressions from the list and write them in the space

provided :

1)  Assembled spectators or listeners at a public event : a

1) Something that deceives by false impression : 1

i) A man’s dinner jacket :t

List : illusion, tuxedo, audience

ACTIVITY 3

Make sentences with the following word clusters :

1)  butnever thought :

i1) saw aman :
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MODEL ACTIVITY TASKS
ENGLISH
CLASS VI

Read the passage carefully and answer the questions that follow :

He started losing all hopes and huddled inside the cave to escape from the burden of such defeat. One evening
he found a spider trying to make its web on the slippery walls of the cave. Every time it dragged itself up the
walls, it fell down. The king was astonished to see how desperate the spider was to meet its target. The next
morning when he got up glumly, he found a sturdy web hanging from the rock walls. He learnt his lesson and
decided never to give up on hard times. He came back to his army. They were all relieved to see the king back.
They all fought back for the seventh time with renewed spirit and captured all enemies.

ACTIVITY 1

Complete the following sentences with information from the text :

1)  The spider was desperate because it wanted to

1) The next morning the king found

ii1) The king learnt a good lesson to see

ACTIVITY 2

There are some errors in the following sentences. Find them out and rewrite correct sentences :
1)  Isaw an pretty bird sitting on an window sill.

Ans.

i1) My younger sister wants an yellow balloon from the seller.

Ans.

ACTIVITY 3

Suppose you bought a rubber ball from a shop. The shopkeeper put that ball in a small box and wrapped
the box with colourful paper. After you opened the box at home there was something else instead of that
ball! Write your experience about what happened next in about five simple sentences:
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MODELACTIVITY TASKS
ENGLISH
CLASS VI
LESSON -3 : “The Rainbow”

Read the poem carefully and answer the questions that follow:
Boats sail on the rivers,
And ships sail on the seas;
But clouds that sail across the sky
Are prettier than these.
There are bridges on the rivers,
As pretty as you please;
But the bow that bridges heaven,
And overtops the trees,
And builds a road from earth to sky,
Is prettier far than these.

ACTIVITY 1
Tick B the correct alternatives :
(a) Ships sail on the --- i) rivers, ii) seas, iii) sky.
(b) The rainbow makes a bridge from the earth to --- i) the sea, ii) the trees, iii) the heaven.
(c) Across the sky sail --- i) the clouds, ii) the road, iii) the boats.

ACTIVITY 2
Write ‘T’ for true and ‘F’ for false statements in the given boxes :
(a) The rainbow is compared to an arrow. |:|
(b) The clouds are more beautiful than the boats and the trees. |:|

(¢) The bow rises over the seas. | |

ACTIVITY 3
Give the adjective forms of the following words :
Words Adjectives
(a) heaven
(b) cloud
(c) earth
ACTIVITY -4

Suppose one day you went with your brother to a countryside where you suddenly saw a rainbow
after a little shower of rain. Write in your own words how you enjoyed the moment in five
complete sentences. Also draw a picture of the rainbow and the landscape that you experienced.
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